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Abstract

A necessary and sufficient condition is obtained for the problem of such partitioning
of the set of vertices of a tree GG into two disjoint sets V4 and V,, which, for a given
function p : V(G) — {—1,0,1} with some special restriction, satisfies the condition
[A(v) N V1] = |A(v) N Va| = p(v) - ({v} N V1| = [{v} N V4|) for any vertex v of G, where
A(v) is the set of all vertices of G adjacent to v.
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Ownh wjGuyhuh 2-npnhdw6 gnynipjwl dwuhd,
npp GGpwpyynmd £ mpjwo Gwppwwwumynipjwuln

U. PwihlpywG, (k. Ludwpjul

Udthnthnid

Unwgywo F wlhpudbym L pujupup qujdwl G ownh ququiplGbph puqumpyul Vy
L V5 shunumnng GapwpwqumpyniGGaph wjGuhuh mpnhdwl gnjnipjnilp wwpgbint hwdwnp,
nn mpnywo hwwnntl vwhdwlunhwmdlGbpnyg pmlGhghwh hwdwnp pujuwpupgh hbnmlbjwg
wuwydwlnp : V(G) — {—1,0,1} dwnh yjmimupwlsnip v ququiph hwdwp | A(v)NVi|—|A(v)N
Vol = p(v) - (Ho} N VA = [{v} NVal), nuntn Mv)-ny Grwlwlpjwé Eo-hl Ghg ququplbph
pwqunipniln:



